
People needed for assembly

RIO DINING SET Assembly Instructions 

Estimated 30 mins

CAT NO.XK732

Product Assistance Line:  if you require any advice about this product or require any missing fixings, 
Please call 0800 083 35 73 between 9.00am and 5.30pm, Monday to Friday. If you are missing any of 
the components from the components list please contact JD williams directly on 0871 231 2000.

Page 1/6



PO: 3198

RIO DINING SET Assembly Instructions 

CAT NO.XK732

Product Assistance Line:  if you require any advice about this product or require any missing fixings, 
Please call 0800 083 35 73 between 9.00am and 5.30pm, Monday to Friday. If you are missing any of 
the components from the components list please contact JD williams directly on 0871 231 2000.

COMPONENT CHECKLIST

1 pcGlass Table Top

Page 2/6

1

Legs 4 pcs2

4 pcs3

4 pcsSide left frame

4 pcsFront rail

Back cushion

4

5

4 pcs6

Seat Cushion 4 pcs7

Side right frame



FITTINGS Ruler  - Use this ruler to help correctly identify the screws. 
0 5 10 15 20 25 30 35 40 45 50 55 60 65 70 75 80 85 90 95 100 110 115 120 125 130 135 140105

PO: 3198

RIO DINING SET Assembly Instructions 

CAT NO.XK732

Product Assistance Line:  if you require any advice about this product or require any missing fixings, 
Please call 0800 083 35 73 between 9.00am and 5.30pm, Monday to Friday. If you are missing any of 
the components from the components list please contact JD williams directly on 0871 231 2000.

Page 3/6

IMPORTANT: Read these instructions carefully before attempting to assemble.
Retain these instructions for future reference.

Table

12 pc
Allen Key M8

C

1 pcD

12 pcs

Flat Washer

Lock WasherB

12 pcsBolts (M8x12)A

12 pcsLock washer B
24 pcs  

Allen Key M8

F

12 pcsBolts (M8x12)A 16 pcsBolts (M6x15)

Bolts (M6x40)

Allen Key M6

E

12 pcs

1 pc

Flat washerC

1

1

2

D G 1 pc

A

B

C

D



PO: 3198

RIO DINING SET Assembly Instructions 

CAT NO.XK732

Product Assistance Line:  if you require any advice about this product or require any missing fixings, 
Please call 0800 083 35 73 between 9.00am and 5.30pm, Monday to Friday. If you are missing any of 
the components from the components list please contact JD williams directly on 0871 231 2000.

Page 4/6

2 Chair

5

3

4

6

1 pcAllen Key M6G

Bolts (M6x40)F 2 pcs

Turn on bolt 75%

Turn on bolt 75%

E
G

E

1 pcAllen Key M6G

Bolts (M6x15)E 4 pcs

E

Step 1

Step 2



PO: 3198

RIO  DINING SET Assembly Instructions 

CAT NO.XK732

Product Assistance Line:  if you require any advice about this product or require any missing fixings, 
Please call 0800 083 35 73 between 9.00am and 5.30pm, Monday to Friday. If you are missing any of 
the components from the components list please contact JD williams directly on 0871 231 2000.

Page 5/6

7

Turn on all bolt 100%

1 pcAllen Key M6G

Bolts (M6x40)F 4 pcs

F

G

Step 3



PO: 3198

RIO DINING SET Assembly Instructions 

CAT NO.XK732

Product Assistance Line:  if you require any advice about this product or require any missing fixings, 
Please call 0800 083 35 73 between 9.00am and 5.30pm, Monday to Friday. If you are missing any of 
the components from the components list please contact JD williams directly on 0871 231 2000.

Page 6/6

Health and safety

How do I care for the rio dining set

• Assemble on a soft level surface to avoid damaging the unit or your floor.
• This product should not be used if any parts are missing or broken.

• Do not stand on the unit.
• Do not strike with a sharp implement.

• All fixings should be checked and tightened before use and periodically tightened.

• Do not allow product to become wet.
• Always use on a level and even surface.

• Wipe clean with a moist cloth
• Do not use abrasive cleaners.

• To ensure an easier assembly, we strongly advise that all fittings are only finger tightened during initial 
  assembly. Only upon completion of the assembly should all fixing points be fully tightened.
• Maximum weight limit 100kg (chairs) , 25 kg (table).


